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 SEQ CHAPTER \h \r 1
	1.
SOURCE-BASED QUESTIONS
	


	MARKING SOURCE-BASED QUESTIONS

	· In marking all source-based questions credit needs to be given to 
any other valid and relevant viewpoints, arguments, evidence or examples.
· In the allocation of marks emphasis should be placed on addressing the 

requirements of the question.
· In these marking guidelines the requirements of the question (skills that 
need to be addressed) as well as the level of the question are indicated in italics.


	1.2
The following levels of questions were used to assess source-based questions:
	


	LEVELS OF SOURCE-BASED QUESTIONS

	LEVEL 1 (L 1)
	· Extract relevant information and data from the sources.

· Organise information logically.

· Explain historical concepts.

	LEVEL 2 (L 2)
	· Categorise appropriate or relevant source of   
      information provided to answer the questions raised.
· Analyse the information and data gathered from a 

     variety of sources.

· Evaluate the sources of information provided to 

      assess the appropriateness of the sources for the 

      task.

	LEVEL 3 (L 3)
	· Interpret and evaluate information and data from the sources

· Engage with sources of information evaluating the usefulness of the sources for the task taking into account stereotypes, subjectivity and gaps in the evidence available.

· Analyse historical concepts as social constructs.

· Examine and explain the dynamics of changing power relations within the aspects of societies studied.

· Compare and contrast interpretations and perspectives of peoples’ actions or events and changes to draw independent conclusions about the actions or events.

· Identify when an interpretation of statistics may be controversial and engage critically with the conclusions presented by the data. 


	2.
EXTENDED WRITING
	


	· MARKERS MUST BE AWARE THAT THE CONTENT OF THE ANSWER WILL BE GUIDED BY THE TEXTBOOKS IN USE AT THE PARTICULAR CENTRE.
· CANDIDATES MAY HAVE ANY OTHER RELEVANT INTRODUCTION AND OR CONCLUSION THAN THOSE INCLUDED IN A SPECIFIC ESSAY MARKING GUIDELINE.
· IN ASSESSING THE OPEN ENDED SOURCE-BASED QUESTIONS CANDIDATES SHOULD BE GIVEN CREDIT FOR ANY OTHER RELEVANT RESPONSE.


	Global assessment of essays
	

	
	
	
	

	The essays will be assessed holistically (globally). This approach requires the educator to score the overall product as a whole, without scoring the component parts separately. This approach encourages the learner to offer an individual opinion through using selected factual evidence to support an argument .The learner will not be required to simply regurgitate "facts" in order to achieve a high mark. It will also discourage learners to prepare "model" answers and reproduce them without taking into account the specific requirements of the question. Holistic essay marking credits learners' opinions. Holistic assessment, unlike content based marking, does not penalise language inadequacies as the emphasis is on the following:
	

	
	
	
	

	· The construction of argument; 

· The appropriate selection of factual evidence to support such argument; and

· The learner's interpretation of the question.
	


	Assessment procedures of an essay
	

	1.
	Keep the synopsis in mind when assessing the essay.
	

	
	
	
	

	2.
	During the first reading of the essay ticks need to be awarded for a relevant 
introduction (indicated by a bullet in marking guideline/ memorandum) each of the main points/aspects that is properly contextualised (also indicated by bullets in marking guideline/ memorandum) and a relevant conclusion (indicated by a bullet in marking guideline/ memorandum) e.g. in an answer where there are 5 main points there will be 7 ticks.
	

	
	
	
	

	3.
	The following additional symbols can also be used:
	

	
	
	
	

	
	· introduction, main aspects and conclusion not properly 

       contextualised

· wrong statement
· irrelevant statement




|









|









|









|

· repetition






R
· analysis







A√
· interpretation






(√
	

	
	
	
	

	4.
	The first reading of an essay will also be to determine to what extent the main aspects have been covered and to allocate the content level (on the matrix).
	

	
	
	
	

	
	C

LEVEL 3


	

	
	
	
	

	5.
	The second reading of an essay will relate to the level (on the matrix) of presentation.
	

	
	
	
	

	
	
	C

LEVEL 2

P

LEVEL 2


	

	
	
	
	

	6.
	Allocate an overall symbol and mark with the use of the matrix.
	

	
	
	
	

	
	C

LEVEL 2

P

LEVEL 2

11


	


	THE MATRIX (GRADE 11)
	

	
	
	
	

	The criteria according to which the essay will be assessed are organised within a matrix and the matrix will be used to allocate a symbol to an essay. 
	

	
	
	
	

	PRESENTATION

CONTENT
	LEVEL 7


Very well planned and structured. Good synthesis of information 

Constructed an argument

Very good use of evidence to support the argument.
	LEVEL 6

Well planned and structured 

Synthesis of information 

Constructed an argument

Evidence used to support the argument.

	LEVEL 5

Writing structured.

Constructed an argument

Evidence used to support argument.

	LEVEL 4
Clear attempt to construct an argument

Evidence used to a large extent to support the argument.

	LEVEL 3
Some attempt to organise the information into an argument

Evidence not well used in supporting the argument.
	LEVEL 2

Largely descriptive/ with little some attempt to develop an argument.


	LEVEL 1

Answer not at all well structured.



	LEVEL 7

Question has been fully answered.  Content selection fully relevant to line of argument.
	27 – 30
	24 – 26
	
	
	
	
	

	LEVEL 6

Question has been answered. 

Content selection relevant to a line of argument.
	24 – 26
	23
	21 – 22
	
	
	
	

	LEVEL 5

Question answered to a great extent. Content adequately covered and relevant. 
	
	21 – 22
	20
	18 – 19
	
	
	

	LEVEL 4

Question recognisable in answer.

Some omissions/ irrelevant content selection.
	
	
	18 – 19
	17
	15 – 16
	
	

	LEVEL 3

Content selection does not always relate.

Omissions in coverage.
	
	
	
	15 – 16
	14
	12 – 13


	

	LEVEL 2

Sparse content. Question inadequately addressed
	
	
	
	
	12 – 13
	11
	9 – 10

	LEVEL 1

Question not answered.

Inadequate content.  Significant irrelevance
	
	
	
	
	
	9 – 10
	0 – 8


	Use the Holistic Rubric to assess the extended writing.
	

	LEVEL
	If the candidate has demonstrated all or most of the skills listed in a particular level, she/he will be awarded a mark relevant to the category.

	7

Outstanding

80 – 100%

24 – 30
	Consistently focuses on topic – demonstrates a logical and coherent progress towards a conclusion

Clearly comprehends the sources

Uses all or most of the sources

Selects relevant sources

Quotes selectively

Groups sources (not essential but should not merely list sources)

Demonstrates a setting of sources in background understanding

If appropriate, deals fully with counter-argument

Refers appropriately to relevancy, bias, accuracy, limitation of sources

Expresses him/herself clearly

Concludes essay with clear focus on topic – takes a stand (i.e. reaches an independent conclusion)

	6

Meritorious

70 – 79%

21 – 23
	Makes a good effort to focus consistently on the topic but, at times, argument loses some focus

Clearly comprehends the sources.

Uses all or most of the sources

Selects relevant sources

Quotes selectively

Perhaps, lacking some depth of overall-focus, or does not make reference to one or more relevant source.

If appropriate, makes an attempt to consider counter-argument

Rather superficial or no attempt to refer to relevancy, bias, accuracy, limitation of sources

Expression good

Concludes essay with clear focus on topic –  takes a stand (i.e. reaches an independent conclusion)

	5

Substantial

60 – 69%

18 – 20
	Makes an effort to focus on the topic but argument has lapses in focus

Comprehends most of the sources

Uses most of the sources

Good use of relevant evidence from the sources.

Good attempt to refer to relevancy, bias, accuracy, limitation of sources

Expression good but with lapses.

Makes a not altogether convincing attempt to take a stand (i.e. limitations in reaching an independent conclusion)

	4

Moderate

50 – 59%

15 – 17
	Makes an effort to focus on the topic but argument has many lapses in focus

Adequate comprehension of most of the sources

Adequate use of relevant evidence from the sources

Adequate attempt to consider counter-argument

Adequate attempt to refer to relevancy, bias, accuracy, limitation of sources

Expression adequate

Makes an attempt to take a stand but there are serious inconsistencies with making links with the rest 
of the essay

Essay might have a tendency to list sources and ‘‘tag’’ on focus

	3

Adequate

40 – 49%

12 – 14
	Poor attempt to focus on the topic

Little comprehension of the sources

Struggles to select relevant information from the sources

No quotes –  or generally irrelevant

Makes no effort to consider counter-argument – 

or exceptionally weak attempt

Easily characterised by listing of sources

No attempt to refer to relevancy, bias, accuracy of sources

Expression poor

Makes a very good attempt to take a stand(i.e. battles to reach an independent conclusion)

	2

Elementary

30 – 39%

09 – 11
	Uses only one or two sources

Unable to identify relevant sources

No quotes – or generally irrelevant

Makes no effort to consider counter-argument

Essay characterised by listing of sources

No attempt to refer to relevancy, bias, accuracy of sources

Expression poor

Makes a very good attempt to take a stand –if at all

	1

Not achieved

0 – 29%

0 – 8
	No attempt to focus on the topic

Uses no sources

Completely irrelevant

Answer extremely poor


	QUESTION 1:
WHAT WERE LENIN’S ECONOMIC POLICIES AND TO WHAT 
EXTENT DID HE FOLLOW A SOCIALIST MODEL?
	

	
	
	
	

	1.1
	1.1.1
	[Explanation of historical concept – L1 – LO2 (AS1)]
	

	
	
	· The nationalisation of all industries and the collectivisation of


agriculture

· Any other relevant response.




    (1 x 2)
	(2)

	
	
	
	

	
	1.1.2
	[Extraction of evidence from Source 1A – L1 – LO1 (AS1)]
	

	
	
	· Military needs






    (1 x 2)
	(2)

	
	
	
	

	
	1.1.3
	[Interpretation of evidence from Source 1A – L2 – LO1 (AS1)]
	

	
	
	· Private enterprise abolished.
· Establishment of centralised control over production.
· Compulsory delivery of grain.



       (Any 2 x 1)
	(2)

	
	
	
	

	
	1.1.4
	[Extraction of evidence from Source 1A – L1 – LO1 (AS1)]
	

	
	
	· All private ownership was abolished.
· Industry was brought under state control.
· Discipline in factories was re-established.
· Internal passports were introduced to prevent factory workers 

from returning to the countryside.
· Food patrols were sent out to extract grain from the peasantry.
· Rationing was introduced.



       (Any 4 x 1)
	(4)

	
	
	
	

	1.2
	1.2.1
	[Extraction of evidence from Source 2B – L2 – LO1 (AS1)]
	

	
	
	· Peasants burnt their crops.
· Destroyed their livestock.
· Shortage of food.
· Violent clashes between peasants and armed requisitioning 
squads.
· Industrial production declined.
· Five million Russians died from starvation.

       (Any 4 x 1)
	(4)

	
	
	
	

	
	1.2.2
	[Extraction of evidence from Source 2B – L1 – LO1 (AS1)]
	

	
	
	· Famine

· Drought







     (2 x 1)
	(2)

	
	
	
	

	
	1.2.3
	[Interpretation of evidence from Source 2B – L3 – LO1(AS1);

LO3 (AS2,3)]
	

	
	
	Yes, it is reliable:
· Five million Russians died from starvation.
· Lenin was forced to introduced a new economic policy.
· Any other relevant response.
	

	
	
	
	

	
	
	OR
	


	
	
	Not reliable:
· Western propaganda against War Communism.
· Put Lenin in a bad light.
· Any other relevant response.




     (2 x 2)
	(4)

	
	
	
	

	1.3
	1.3.1
	[Interpretation of evidence from Source 1C – L3 – LO1 (AS1)]
	

	
	
	· Children were starving.
· War Communism was a failure.
· Any other relevant response.




     (2 x 2)
	(4)

	
	
	
	

	
	1.3.2
	[Interpretation of evidence from Source 1C – L2 – LO1 (AS1)]
	

	
	
	· That War Communism was a failure.
· People were starving.
· People were dying.
· Any other relevant response.



       (Any 2 x 2)
	(4)

	
	
	
	

	1.4
	1.4.1
	[Explanation of historical concepts – L1 – LO2 (AS1,2)]
	

	
	
	· Kulaks – independent wealthy farmer class

· Nepmen – wealthy traders and factory owners

     (2 x 2)
	(4)

	
	
	
	

	
	1.4.2
	[Interpretation of evidence from Source 1D – L3 – LO1 (AS1); 

LO3 (AS2,3)]
	

	
	
	· It was a compromise with capitalist principles.
· It introduced a class system.
· Any other relevant response.




     (2 x 2)
	(4)

	
	
	
	

	
	1.4.3
	[Extraction of evidence from Source 1D – L2 – LO1 (AS1)]
	

	
	
	· Forced requisitioning of grain was ended.
· Peasants paid tax in kind.
· They sold surplus grain on open market.
· Kulaks emerged.
· Nepmen emerged.
· State Bank was established.
· Economy recovered.




       (Any 3 x 1)
	(3)


	1.5
	[[Interpretation, analysis and synthesis of evidence from all sources – L3 – LO1 (AS3); LO2 (AS2,3); LO3 (AS2,3,4)]
	

	
	
	
	

	
	Candidates should include the following in their response:
	

	
	
	
	

	
	· Peasants burned their crops.
· They destroyed their livestock.
· Starvation.
· Industrial production declined.
· Five million Russians died.
· Children suffered the most.
· Any other relevant response.
	

	
	
	
	

	
	Use the following to allocate a mark:

LEVEL 1

· Uses evidence in an elementary manner, e.g. Makes no or little reference to the failure of War Communism.
· Uses evidence partially to report on topic or cannot report on topic

Marks: 0 – 2

LEVEL 2

· Evidence is mostly relevant and relates to a great extent to the topic, e.g. Makes reference to the failure of War Communism.

· Uses evidence in a very basic manner

Marks: 3 – 4

LEVEL 3

· Uses relevant evidence, e.g. Demonstrates a thorough understanding of the failure of War Communism.
· Evidence relates well to the topic.

· Uses evidence very effectively in an organised paragraph that shows an understanding of the topic

Marks: 5 – 6


	(6)

	
	
	
	

	1.6
	EXTENDED WRITING
	

	
	
	
	

	
	1.6.1
	[Analysis, synthesis and the ability to construct a coherent argument based on evidence – L3 – LO2 (AS 2,3); LO3; AS1,2,3&4]
	

	
	
	
	

	
	
	Candidates should include the following aspects in their response:
	

	
	
	
	

	
	
	SYNOPSIS:
	

	
	
	
	

	
	
	The answer needs to show the difference between War Communism and the New Economic Policy. It must also be explained why Lenin replaced the policy of War Communism with the NEP.
	


	
	
	MAIN ASPECTS
	

	
	
	· Introduction: It should indicate the problems that Lenin faced when he became leader of Russia.
	

	
	
	
	

	
	
	ELABORATION
	

	
	
	
	

	
	
	· War communism: economic power brought under  state control

· Private ownership prohibited

· Nationalisation of industries, armies banks and railways.
· Problems created by War Communism.
· The implementation of the New Economic Policy.
· Compromise between capitalism and communism.
· Any relevant differences

· Conclusion:
Tie up the argument by indicating whether the 
NEP was a compromise with capitalism or any 

relevant conclusion.
	

	
	
	
	

	
	
	Use the matrix to assess the essay.
	(30)

	
	
	
	

	
	1.6.2
	[Analysis, synthesis and the ability to construct a report based on evidence and own knowledge – L3 – LO2 (AS2,3); LO3 (AS1,2,3&4)]
	

	
	
	
	

	
	
	Candidates should include the following aspects in their response:
	

	
	
	
	

	
	
	SYNOPSIS:
	

	
	
	
	

	
	
	The learners should write a composition showing how the NEP a contradiction was of communist principles. The NEP must be fully discussed.
	

	
	
	
	

	
	
	MAIN ASPECTS
	

	
	
	
	

	
	
	· Introduction: Learners should indicate how the NEP differed from the economic aims and objectives of the Russian Revolution.
	


	
	
	ELABORATION
	

	
	
	
	

	
	
	· Farmers sold products on open market (capitalism).
· They paid tax in kind (capitalism).
· Farmers allowed to hire land and workers (features of capitalism).
· Kulaks/Nepmen – class system (feature of capitalism).
· Own factories and businesses.
· Foreign trade.
· State Bank and credit – capitalism.
· Any other relevant response.
· Conclusion:
Tie up the report by indicating how the NEP was a 

violation of communist principles.
	

	
	
	Use the holistic rubric to assess the essay.
	(30)

	
	
	
	[75]

	
	
	
	

	
	
	
	

	QUESTION 2:
WHAT WAS THE IMPACT OF THE GREAT DEPRESSION OF 1929 ON THE LIVES OF PEOPLE IN THE UNITED STATES OF AMERICA?
	

	
	
	
	

	2.1
	2.1.1
	[Definition of concepts using Source 2A – L1 – LO1 (AS1); LO2 (AS1)]
	

	
	
	
	

	
	
	(a) The collapsed of the New York Stock Market on 24 October 
1929.
(b) A period of extreme economic hardship, unemployment and business failures after 1929.



    (2 x 2)
	(4)

	
	
	
	

	
	2.1.2
	[Interpretation of evidence from Source 2A – L2 – LO1 (AS3)]
	

	
	
	· Companies collapsed.
· Factories closed.
· Banks stopped doing business.


       (Any 2 x 2)
	(4)

	
	
	
	

	
	2.1.3
	[Extraction of evidence from Source 2A – L1 – LO1 (AS1)]
	

	
	
	· Taxes could not be collected.
· Government could not pay for welfare services.
· Could not pay school teachers’ salaries.

       (Any 2 x 1)
	(2)

	
	
	
	

	2.2
	2.2.1
	[Extraction of evidence from Source 2B, Extract 1 – L1 – LO1 (AS1)
	

	
	
	· Brokers jumped to their death.
· People were down and out.
· Some put their houses up for sale or left them.
· People committed suicide.



       (Any 3 x 1)
	(3)


	
	2.2.2
	[Interpretation of evidence from Source 2B, Extract 1 – L2 – LO1 (AS1)]
	

	
	
	· The situation in the USA was very bad.
· People could not bear it and decided to take their lives.
· Any other relevant response




    (2 x 2)
	(4)

	
	
	
	

	
	2.2.3
	[Interpretation of evidence from Source 2B, Extract 1 – L2 – LO1 (AS1)
	

	
	
	· No one was buying anything at that time.


    (1 x 2)
	(2)

	
	
	
	

	
	2.2.4
	[Comparison of evidence from Source 2B, Extracts 1 and 2 
L3 – LO1 (AS1); LO3 (AS2,3)]
	

	
	
	
	

	
	
	Extract 1:

· People lost their homes.
· People committed suicide.
	

	
	
	
	

	
	
	Extract 2:

· People were thrown out of their homes.
· People were dying.





    (2 x 2)
	(4)

	
	
	
	

	2.3
	2.3.1
	[Interpretation of evidence from Source 2C – L3 – LO3 (AS1)]
	

	
	
	Useful:

· It explained the sufferings of the people during the depression.
· The depression affected everybody (poor and rich).

· It explained and showed the breadline-scenario.
· Any other relevant answer.
	

	
	
	
	

	
	
	OR
	

	
	
	
	

	
	
	Not useful

· It does not explain the effect on women and children.
· It does not explain the government’s involvement in solving the depression.
· Any other relevant answer.



       (Any 2 x 2)
	(4)

	
	
	
	

	
	2.3.2
	[Comparison and interpretation of evidence from the written source and the visual source – L3 – LO1 (AS1); LO3 (AS2,3)]
	

	
	
	· In both sources people were queuing for bread.
· In both sources it were only men.
· Both sources indicated men from all classes of society.
· They were well dressed.
· Professional people.
· Any other relevant response.



       (Any 2 x 2)
	(4)

	
	
	
	


	
	2.3.3
	[Interpretation of evidence from Source 2C, Visual source – L2 – LO1 (AS1)]
	

	
	
	· They were middle-class men.
· Professional and educated men.
· They previously earned a good salary.
· Any other relevant response.




    (2 x 2)
	(4)

	
	
	
	

	
	2.3.4
	[Interpretation and analysis of evidence from Source 2C – L3 – LO1 (AS1); LO3 (AS2,3)]
	

	
	
	· To gain votes for their party.
· Members and supporters of the Socialist Party were most affected by the depression.
· The laissez-fare policy of the government not to interfere.
· Any other relevant response



       (Any 2 x 2)
	(4)

	
	
	
	

	2.4
	[Interpretation, analysis and synthesis of evidence from all sources – L3 – LO1 (AS3); LO2 (AS2,3); LO3 (AS2,3,4)]
	

	
	
	

	
	Candidates should include the following in their response:
	

	
	
	
	

	
	· People lost their work.
· Lack of welfare services.
· School teachers received no salaries.
· People lost their homes.
· They committed suicide.
· People starved.
· People from all ranks of society had to queue for bread.
· People lost their dignity and self-respect.
· Any other response.
	

	
	
	

	
	Use the following to allocate a mark:

LEVEL 1

· Uses evidence in an elementary manner, e.g. Makes no or little reference to the suffering of the American people.
· Uses evidence partially to report on topic or cannot report on topic.

Marks: 0 – 2

LEVEL 2

· Evidence is mostly relevant and relates to a great extent to the topic, e.g. Makes reference to the suffering of the American people.

· Uses evidence in a very basic manner.

Marks: 3 – 4

LEVEL 3

· Uses relevant evidence, e.g. Demonstrates a thorough understanding of the suffering of the American people.
· Evidence relates well to the topic.

· Uses evidence very effectively in an organised paragraph that shows an understanding of the topic.

Marks: 5 – 6


	(6)


	2.5
	EXTENDED WRITING
	

	
	
	
	

	
	2.5.1
	[Analysis, synthesis and the ability to construct a coherent argument based on evidence – L3 – LO1 (AS1); LO2 (AS2,3); LO3 (AS2,3,4)]
	

	
	
	
	

	
	
	Candidates should include the following in their response:
	

	
	
	
	

	
	
	SYNOPSIS
	

	
	
	
	

	
	
	Candidates should discuss the causes and effects of the Great Depression of 1929 on the USA.
	

	
	
	
	

	
	
	MAIN ASPECTS
	

	
	
	
	

	
	
	· Introduction: Candidates should focus on why the Great Depression of 1929 started in the USA.
	

	
	
	
	

	
	
	ELABORATION
	

	
	
	
	

	
	
	Causes of the Great Depression:
· Excessive optimism 

· The uneven distribution of wealth

· The unevenness of industrial and manufacturing expansion

· Unpaid loans

· The stock market boom

· Holding corporations and investment trusts

· “Buying on the margin”

· Policy of isolation that damaged foreign trade

Effects of the Great Depression:
· Many industries shut down.
· Unemployment and poverty became rife.
· Even those with jobs got less money.
· Fear of losing jobs became common, which affected the physical and psychological well-being of the workers.
· Few houses were built

· All commercial banks closed, many being insolvent.
· International trade declined.
· Conclusion: Candidates should tie up their response with a 


      relevant conclusion
	

	
	
	
	

	
	
	Use the matrix to assess the essay.
	(30)


	
	2.5.2
	[Analysis, synthesis and the ability to construct a coherent argument based on evidence and own knowledge – L3 – LO1 (AS1); LO2 (AS2,3); LO3 (AS2,3,4)]
	

	
	
	
	

	
	
	Candidates should include the following in their response:
	

	
	
	
	

	
	
	SYNOPSIS
	

	
	
	
	

	
	
	Candidates should discuss how the people, government and companies in America suffered because of the Great Depression.
	

	
	
	
	

	
	
	MAIN ASPECTS
	

	
	
	
	

	
	
	· Introduction: Candidates should discuss the impact of the Great Depression on the American society.
	

	
	
	
	

	
	
	ELABORATION
	

	
	
	
	

	
	
	· Corporations like Du Pont and General Motors lost shares.
· Financiers were ruined.
· Holding companies collapsed.
· Factories closed.
· Banks stopped doing business.
· Taxes could not be collected.
· Famous firms went bankrupt.
· People lost their work.
· Lack of welfare services.
· School teachers received no salaries.
· People lost their homes.
· They committed suicide.
· People starved.
· People from all ranks of society had to queue for bread.
· People lost their dignity and self-respect.
· Any other response.
· Conclusion: Candidates should tie up their response with a
 relevant conclusion.
	

	
	
	Use the holistic rubric to assess the essay.
	(30)

	
	
	
	[75]


	QUESTION 3:
WHAT WERE THE ROOTS AND NATURE OF AFRIKANER AND AFRICAN NATIONALISM AND IDENTITIES IN SOUTH AFRICA DURING THE 1930s TO 1950s?
	

	
	
	
	

	3.1
	3.1.1
	[Extraction of evidence from Source 3A – L1 – LO1 (AS1)]
	

	
	
	· Uniting people of a particular language group.
· Afrikaner-nationalism racially based.



    (1 x 2)
	(2)

	
	
	
	

	
	3.1.2
	[Interpretation of evidence from Source 3A – L1 – LO1 (AS1)]
	

	
	
	· Involved only white groups.




    (1 x 2)
	(2)

	
	
	
	

	
	3.1.3
	[Interpretation and extraction of evidence from Source 3A – L1 – LO1 (AS1)]
	

	
	
	· European – Europe 

European language groups

· Afrikaner – South Africa

Only those whites that spoke Afrikaans.


    (2 x 2)
	(4)

	
	
	
	

	3.2
	3.2.1
	[Interpretation of evidence from Source 3B – L1 – LO1 (AS1)]
	

	
	
	· Promotion of white unity.
· Any relevant answer.





    (1 x 2)
	(2)

	
	
	
	

	
	3.2.2
	[Interpretation of evidence from Source 3B – L1 – LO1 (AS1)]
	

	
	
	· Afrikaner

· English whites.






    (1 x 2)
	(2)

	
	
	
	

	
	3.2.3
	[Interpretation and extraction of evidence from Source 3B – L1 –

LO1 (AS1)]
	

	
	
	· A float procession through the streets.


    (1 x 2)
	(2)

	
	
	
	

	
	3.2.4
	[Analysis of evidence from Source 3B – L2 – LO1 (AS2,3)]
	

	
	
	· No need for them to celebrate.

· They were angry.
· They were riotousness
.



       (Any 1 x 2)
	(2)

	
	
	
	

	
	3.2.5
	[Explanation of evidence from Source 3B – L1&L2 – LO1 (AS1) LO2 (AS3); LO3 (AS1&2)
	

	
	
	
	

	
	
	Photograph 1

· Large number of whites

· Promoting Afrikaner and English unity

Photograph 2

· Large numbers of Coloureds, Indians and Africans

· Promoting African, Coloured and Indian unity.

    (2 x 2)
	(4)


	3.3
	3.3.1
	[Interpretation of evidence from Source 3C – L2 – LO1 (AS3)]
	

	
	
	· Africa belong to the Africans.
· Any relevant explanation.




    (1 x 3)
	(3)

	
	
	
	

	
	3.3.2
	[Extraction of evidence  from Source 3C – L1 – LO1 (AS1)]
	

	
	
	· Inferiority complex

· Worshipping the West.




       (Any 1 x 2)
	(2)

	
	
	
	

	
	3.3.3
	[Interpretation of evidence from Source 3C – L3 – LO1(AS1,3)]
	

	
	
	· The colour black is beautiful.

· He is proud on his skin colour.

· His skin colour reminded him of the black soil of Africa. 
· Any relevant explanation.



        (Any 2 x 2)
	(4)

	
	
	
	

	
	3.3.4
	[Extraction of evidence from Source 3C – L1 – LO1 (AS1)]
	

	
	
	· Improve their self-image




    (1 x 2)
	(2)

	
	
	
	

	3.4
	3.4.1
	[Extraction of evidence from Source 3C – L1 – LO1 (AS1)]
	

	
	
	· Against apartheid.





    (1 x 2)
	(2)

	
	
	
	

	
	3.4.2
	[Explanation of evidence from Source 3C – L3 – LO1 (AS1,3)]
	

	
	
	· No segregation of races.

· No separation of races.

· All races are working together.

· People are not classified according to their skin colour. 

· Any relevant explanation



       (Any 1 x 2)
	(2)

	
	
	
	

	
	3.4.3
	[Extraction of evidence from Source 3D – L1 – LO1 (AS1)]
	

	
	
	· A united force.
· The driving force towards overthrowing white oppression.


    (2 x 2)
	(4)

	
	
	
	

	3.5
	[Interpretation and synthesis of evidence from Sources 1A and 1B – L3 – LO1 (AS1); LO2 (AS2,3)]
	

	
	
	
	

	
	· Explain Afrikaner-nationalism

· Strong growth after the Anglo-Boer War.

· Opposition against Britain and British rule gave rise to Afrikaner-nationalism.

· Centenary celebrations

· Van Riebeeck Festival.
	


	
	Use the following to allocate a mark:

LEVEL 1

· Uses evidence in an elementary manner, e.g. Makes no or little reference to the rise of Afrikaner-nationalism.
· Uses evidence partially to report on topic or cannot report on topic.

Marks: 0 – 2

LEVEL 2

· Evidence is mostly relevant and relates to a great extent to the topic, e.g. Makes reference to the rise of Afrikaner-nationalism.

· Uses evidence in a very basic manner.

Marks: 3 – 4

LEVEL 3

· Uses relevant evidence, e.g. Demonstrates a thorough understanding of the rise of Afrikaner-nationalism.
· Evidence relates well to the topic.

· Uses evidence very effectively in an organised paragraph that shows an understanding of the topic.

Marks: 5 – 6


	(6)

	
	
	
	

	3.6
	EXTENDED WRITING
	

	
	
	
	

	
	3.6.1
	[Analysis, synthesis and the ability to construct a coherent argument based on evidence – L3 – LO2; (AS2,3); LO3 (AS1,2,3&4)]
	

	
	
	
	

	
	
	Candidates should include the following aspects in their response:
	

	
	
	
	

	
	
	SYNOPSIS:
	

	
	
	
	

	
	
	Learners must discuss the different race groups in South Africa. They must also indicate how the different nationalisms, cultures and identities transform South Africa into a rainbow nation.
	

	
	
	
	

	
	
	MAIN ASPECTS
	

	
	
	
	

	
	
	· Introduction: Learners must indicate the different race groups and how they formed the rainbow nation.
	

	
	
	
	

	
	
	ELABORATION
	

	
	
	
	

	
	
	· Afrikaner-nationalism

· English-nationalism.

· African-nationalism

· Coloured-nationalism

· Indian-nationalism

· Conclusion:
Learners must tie up the statement by indicating how the different cultures and identities transformed South Africa into a rainbow nation.
	

	
	
	
	

	
	
	Use the matrix to assess the essay.
	(30)


	
	3.6.2
	[Analysis, synthesis and the ability to construct a coherent argument based on evidence – L3 – LO2 (AS 2,3); LO3 (AS1,2,3&4)]
	

	
	
	
	

	
	
	Candidates should include the following aspects in their response:
	

	
	
	
	

	
	
	SYNOPSIS:
	

	
	
	
	

	
	
	Learners must discuss the rise of Afrikaner and African nationalism during the 1930s and 1950s. They must also indicate the similarities and differences between the two groups.
	

	
	
	
	

	
	
	MAIN ASPECTS
	

	
	
	
	

	
	
	· Introduction: Afrikaner-nationalism and Black-nationalism grew strongly during the 1930s and 1950s.
	

	
	
	
	

	
	
	ELABORATION
	

	
	
	
	

	
	
	· Explanation of Afrikaner-nationalism

· Symbols of Afrikaner-nationalism.

· South African Flag replaced British flag.

· Own anthem, Die Stem, replaced God Save the Queen.
· Commemoration of the Great Trek.

· Van Riebeeck Festival.

· Explanation of African-nationalism.

· Influence of the Second World War.

· African claims.

· Establishment of the ANC Youth League.

· Resistance campaigns of the 1950s made African-nationalism stronger. 

· Similarities:  both believe that the country belongs to them.

· Differences:  Afrikaner-nationalism based on colour.

     



       African-nationalism inclusive of all race groups.

· Any other relevant answer.

· Conclusion:  Learners should tie up their viewpoint with a relevant 

      conclusion.
	(30)
(30)


	
	
	
	

	
	
	Use the holistic rubric to assess the essay.
	(30)

	
	
	
	[75]

	
	
	
	

	
	
	TOTAL:
	150



